
 

 

 



 

 

 

 

 



 

 

 

 

(NH3 − N) = (NH4
+ − N)  × [1 +

10−pH

10
−(0.1075+

2725
T )

]

−1

pH = 9.43 − 2.02 
VFAs

[(NH3−N)+(NH4
+−N)]

TS Removal (%) =  
initial TS (g)−final TS (g)

initial TS (g)
 × 100% 



 

 

 

λ

𝐲(𝐭) = 𝐲𝐦. 𝐞𝐱𝐩 {− 𝐞𝐱𝐩 [
𝛍.𝐞

𝐲𝐦
 (𝛌 − 𝐭) + 𝟏]} 

𝐲(𝐭) =  𝐲𝐦 (𝟏 − 𝐞𝐱𝐩(−𝐤. 𝐭)) 
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λ

Fitting error (%) =
|measured biogas yield − predicted biogas yield|

measured biogas yield
× 100%
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𝒚 = −𝟏. 𝟏𝟑𝟔𝒙𝟐 +

𝟏𝟐. 𝟐𝟔𝒙 + 𝟏𝟎. 𝟓 (𝑹𝟐 = 𝟎. 𝟗𝟗𝟗) 𝒚

𝒙

𝒚 = −𝟏. 𝟏𝟑𝟔𝒙𝟐 + 𝟏𝟐. 𝟐𝟔𝒙 + 𝟏𝟎. 𝟓𝟐

 
𝒅𝒚

𝒅𝒙
= −𝟐. 𝟐𝟕𝟐𝒙 + 𝟏𝟐. 𝟐𝟔

𝒚 𝒙

𝒙 𝒙
𝒅𝒚

𝒅𝒙
= 𝟎

𝟎 = −𝟐. 𝟐𝟕𝟐𝒙 + 𝟏𝟐. 𝟐𝟔

−𝟏𝟐. 𝟐𝟔 = −𝟐. 𝟐𝟕𝟐𝒙

𝒙 = 𝟓. 𝟒

𝒙

 

y = -1.1366x2 + 12.265x + 10.528

R² = 0.9996
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